The control tasks on practical class theme 

Anatomico-topographical features of eye. 

Methods of examination of visual organ.

TESTS:
1. Choose name for the anomalous susceptibility of green color:

      

1. Deuteranomality. 

         
2. Protanomaly.

         
3. Tritanomaly.

         
4. Trichromasia.

         
5. Dichromasia.

2. Choose name for the normal susceptibility of color: 

         
1. Tritanopia (blue blindness).

         
2. Deuteranopia.

      
3. Trichromasy.

         
4. Monochromasy.

         
5. Protanopia.

3. How many muscles are there in the iris?

1. 1

2. 2

3. 3

4. 4

5. 5

4. Which layers does the cornea consist of?

1. Epithelium.

2. Stroma.

3. Endothelium. 

4. Boumen’s membrane.

5. All layers.

5. What nerve provides sensitive innervation of the conjunctiva?

1. Trochlear nerve.

2. Nervus oculomotorius.

3. Trigeminal nerve.

4. Optic nerve.

5. Nervus facialis.

6. Photoreceptors of the eye are located in…

1.The inner layer of the retina.

2. The external layer of the retina.

3. Behind the retina.

4. Behind the lens.

5. In the internal membrane of the eye.

7. What is specific about the yellow spot?

1. A place of rod localization.

2. A place of cone localization.

3. A place of absence of visual receptors.

4. The main refractive medium.

5. A nerve fibers localization.

8. Which sinus borders the orbit?

1. Frontal.

2. Maxilla.

3. Ethmoidal.

4. Clinoid.

5. All enumerated above.

9. Choose the location of most of rods:

1. Optic disc.

2. Macula lutea.

3. Toothed line.

4. Retina periphery.

5. Proportionally on all retina. 

10. Which sinus borders the orbit?

1. Frontal.

2. Maxilla.

3. Ethmoidal.

4. Clinoid.

5. All enumerated above.

11. Maximal refraction capacity of the optic system of the eye belongs to…

1. Cornea.

2. Lens.

3. Liquid of the anterior chamber.

4. Vitreous body.

5. Lens nucleus.

12. The choroid doesn't contein the following anatomic structure:

1. Suprachoroidea.

2. Large vessels.

3. Medium vessels.

4. Nerve fibers.

5. Choriocapillaries.

13. What nerve doesn’t take part in the innervation of the oculormotor muscles?

1. Trochlear nerve.

2. Nervus oculomotorius.

3. Abducent nerve.

4. Optic nerve.

5. Nervus facialis.

14. Choose the eye structure, that doesn't have any sensetive innervation:

1. Cornea.

2. Retina.

3. Ciliary body.

4. Conjunctiva.

5. Iris.

15. The middle (medial) eyeball membrane is called …

1. Fibrous.

2. Vascular.

3. Retina.

4. Muscular.

5. Mucosa.

16. How many muscles go from the ligament circle near the optic nerve?

1. 6

2. 10

3. 5

4. 22

5. 12

17. What does go through the foramen opticus? 

1. Optic nerve.

2. A.ophthalmica.

3. N.trigeminus.

4. A. lacrimalis.

5. N. oculomotorius.

18. The cornea does not contain…

1. Nerves.

2. Vessels.

3. Epithelium.

4. Stroma.

5. Endothelium.

19. The main function of the cornea is …

1. Trophic.

2. Tears secretion.

3. Light refraction.

4. Support.

5. Light perception.

20. Maximal refraction capacity of the optic system of the eye belongs to…

1. Cornea.

2. Lens.

3. Liquid of the anterior chamber.

4. Vitreous body.

5. Lens nucleus.

21. Choose the the part of the visual analyzer after chiasm?

1. Optic nerve.

2. Visual tract.

3. Visual chiasm.

4. Subcortical centre.

5. Cortical centre.

22. What muscle is not located in the orbit?

1. Round muscle of the eyelids. 

2. The upper eyelid levator.

3. M. rectus inferior.

4. M. obliquus superior.

5. M. orbitalis.

23. How many layers are there in the eyeball?

1. 2.

2. 4.

3. 3.

4. 5.

5. 6.

24. The richest capillary part of eyeball is:

1. Cornea.

2. Sclera.

3. Lens.

4. Iris.

5. Vitreous.

25. Basic outflow way of aqueous liquid is:

1. Perinevral spaces of the visual nerve.

2. Angle of the anterior chamber.

3. Perivascular spaces of the iris.

4. Intra- and episcleral venous vessels.

5. Suprachoroidal space.

TASKS:

1. A patient N., 70 years old, who suffers an idiopathic hypertension, complains of lowering of vision in the left eye. You should make examination of eye bottom. Which method do you need?

1. Gonioscopy.



2. Tonometry



3. Ophthalmoscopy.



4. Slit-lamp examination.



5. Passing light examination.

2. The patient complains of sudden reddening of the right eye, photophobia, sensation of "sand" in eyes, lacrimation, which appeared 3 days ago. Which method of examination should you make to assess of conjunctiva?



1. Gonioscopy.



2. Ophthalmoscopy.



3. Tonometry.



4. Slit-lamp examination.



5. Passing light examination

3. A patient К., 55 years old, is suffering diabetes mellitus for 12 years. You should make examination of eye bottom. Which method do you need?

1. Gonioscopy.



2. Ophthalmoscopy.



3. Tonometry.



4. Slit-lamp examination.



5. Passing light examination

4. The patient complains of strong itch, burning sensation in eyes, reddening of the eyelid’s skin in the external angles of the palpebral fissures. Which method of examination should you choose for assessment conjunctiva?

1. Gonioscopy.



2. Tonometry



3. Ophthalmoscopy.



4. Slit-lamp examination.



5. Passing light examination.

5. A patient К., 55 years old, is suffering diabetes mellitus during for 12 years. You should make examination of eye bottom. Which method do you need?

1. Gonioscopy.



2. Ophthalmoscopy.



3. Tonometry.



4. Slit-lamp examination.



5. Passing light examinationThe

6. A patient complains of sudden reddening of the right eye, photophobia, sensation of "sand" in eyes, lacrimation, which appeared 3 days ago. Which method of examination should you choose for assessment cornea?



1. Gonioscopy.



2. Ophthalmoscopy.



3. Tonometry.



4. Slit-lamp examination.



5. Passing light examination

7. The newborn has the dense edema of eyelids with cyanotic shade. The conjunctiva is bright red; there are serous-blood discharges from conjunctiva. The lids are swollen and brawny. Which method of examination should you choose for assessment conjunctiva?

1. Focal illumination.



2. Tonometry



3. Ophthalmoscopy.



4. Slit-lamp examination.



5. Passing light examination.

8. The patient complains of strong itch, burning sensation in eyes, reddening of the eyelid’s skin in the external angles of the palpebral fissures. Which method of examination should you choose for assessment conjunctiva?

1. Gonioscopy.



2. Tonometry



3. Ophthalmoscopy.



4. Slit-lamp examination.



5. Passing light examination.

9. A patient N., 70 years old, who suffers an idiopathic hypertension, complains of lowering of vision in the left eye. You should make examination of eye bottom. Which method do you need?

1. Gonioscopy.



2. Tonometry



3. Ophthalmoscopy.



4. Slit-lamp examination.



5. Passing light examination.

10. The 5-month's child did not react to subjects, their moving. Examination data: the grayish color of pupil, but reaction to light alive is revealed. Which method of examination should you choose for assessment optical mediums transparence?


1. Gonioscopy.



2. Tonometry



3. Ophthalmoscopy.



4. Slit-lamp examination.



5. Passing light examination.

The control tasks on theme of practical class:

The functions of organ vision (visual acuity, visual field)

TESTS: 

1. Methods of examination of the peripheral vision

1. Ophthalmoscopy

2. Sciascopy

3. Perimetry

4. Biomicroscopy

5. Tonometry
2. How many neurons are there in the visual analyzer?

1. 2

2. 3

3. 4

4. 5

5. 1

3. Choose the name for the absence of perception of one of primary colors of a spectrum:
1. Deuteranomaly

2. Protanomaly

3. Tritanomaly

4. Dichromasia

5. Monochromasia

4. Choose the name for the abnormal red color perception :
1. Protanomaly.

2. Deuteranomaly.

3. Tritanomaly

4. Dichromasia.

5. Monochromasia.

5. What is the distance for examination of visual acuity for near?

1. 10 cm.



2. 13 cm.



3. 33 cm.



4.1 m.

5. 23 cm 

6. The visual acuity is calculated by the formula named as:

1. Newton.

2. Pascal.

3. Snellen

4. Donders

5. No formula is used for calculation.

7. The Snellen’s formula is:

1. Visus = d: D.

2. Visus = D: d.

3. Visus = 1: D.

4. Visus = 1: d.

5. Visus = d+D.

8. Choose a method of the visual acuity examination:
1. By a perimeter.

2. By a campimeter.

3. By the Shevaleva’s table 

4. By the Rabkin’s table 

5. By a refractometer.

9. Disorder of the dusk vision is called …

1. Hemeralopia

2. Hemeranopsia

3. Scotoma

4. Amaurosis

5. Trichromatopsia

10. The narrowest is visual field is for …

1. white colour

2. black colour

3. red colour

4. green colour

5. blue colour
11. What is the method of examination of color perception?

1. With help of the Snellen’s tables.

2. With help of Polak’s optotypes

3. Is not examination 

4. With the help of a synoptophore.

5. With the help of the polychromatic tables.

12. Choose a method of the visual acuity under 0,1examination:
1. With help of the perimeter.

2. With the help of Polak’s optotypes

3. Is not examination 

4. With the help of a synoptophore.

5. With the help of the polychromatic tables.

13. What is the distance for examination of visual acuity for far with help of Snellen’s chart?

1. 10 m.



2. 13 m.



3. 5 cm.



4. 1 m.

5. 23 m 

14. What anatomic area has the cones?

1. Peripheria of a retina.

2. Optic nerve disk.

3. Ora serrata

4. Macula lutea.

5. Vitreous body.

15. What is the name for visual acuity examination?

1. Perimetria.

2. Campimetria.

3. Ophtalmoscopia.

4. Visometry.

5. Biomicroscopia.

16. If the visual acuity is 0,02, from what distances the patient can see the optotypes?

1. 1 m.

2. 2 m.

3. 0,25 m.

4. 4 m.

5. 0,5 m.

17. The disorder of green color perception is called:

1. Chloropsia.

2. Deuteranomaly

3. Protanomaly

4. Tritanomaly

5. Dichromasia

18. How is the area of optic nerve defect called in perimetry?

1. Absolute, physiological, central scotoma

2. Absolute, physiological, paracentral scotoma 

3. Relative, physiological, central scotoma

4. Relative, physiological, paracentral scotoma

5. Absolute, pathological, paracentral scotoma

19. Narrowing of visual field on the nasal part occurs most often in:
1. Pigment degeneration of the retina

2. Retinal detachment

3. Glaucoma III

4. Retrobulbar neuritis

5. Choreoretinitis

20. Absolute central scotoma occurs most often in …

1. Glaucoma III

2. Macular rupture

3. Medial part of chiasm

4. Retinal detachment

5. Choreoretinitis

21. Which photoreceptors are for color perception?

1. Rods.

2. Cones.

3. Pigment epithelium.

4. Ganglion cells

5. Bipolar cells

22. What margins are normal for peripheral visual field to a white colour?

1. temple – 100°; nose – 60°;top - 60°; bottom - 80°.

2. temple -  85°, nose - 50°;top - 40°; bottom - 60°.

3. temple -  90°; nose – 50-55°;top - 50°; bottom - 70°.

4. temple - 110°;  nose - 65°; top - 60°; bottom - 75°.

5. temple - 120°; nose - 50°; top - 60°; bottom - 70°.

23. Binasal hemianopsia occurs in case of damage …

1. Left visual tract

2. Right visual tract

3. Medial part of chiasm

4. The whole chiasm

5. Lateral part of chiasm

24. What symptoms may point to of pituitary tumour?

1. Destruction in the area of the Turkish saddle

2. Bitemporal hemianopsia

3. Hypertensive-liquor syndrome

4. Vestibular disturbances

5. Autonomic dysfunctions

25. What is the aim of campimetry?

1. Determination of visual field in its central part

2. Determination of scotoma size

3. In glaucoma, myopsia, neuritis

4. Self-control

5. Diagnostic purpose

TASKS:
1. The patient has bilateral atrophy of the optic nerve. He can see by his right eye the optotypes at 2 m distant from chart, by his left eye - 1 m. What visual acuity does the patient have?

1. Vis OD = 0,02 and Vis OS = 0,01.

2. Vis OD = 0, 4 and Vis OS = 0, 2.

3. Vis OD = 0,04 and Vis OS = 0, 2.

4. Vis OD = 0, 4 and Vis OS = 0,02.

5. Vis OD = 0,04 and Vis OS = 0,02.

2. The patient can see the letters of the 1-th line of the Golovin-Sivtsev's table at 5 m distance from the table. What visual acuity does he have?

1. 0,7.

2. 1,0.

3. 0,5.

4.0,6.

5. 0,1

3. The patient has bilateral atrophy of the optic nerve. He can’t see any objects, but he can see and feel light. How can the visual field be examined?



1. Control methd.



2. Perimetry with object.



3. Perimetry with torch or candel.



4. Examination of visual field is impossible. 

4. The patient can see the letters of the 3-th line of the Golovin-Sivtsev's table at 5 m distance from the table. What visual acuity does he have?

1. 0,7.

2. 1,0.

3. 0,5.

4.0,3.

5. 0,1

5. The patient was examined by ophthalmologist. It was established the paracentral absolute negative scotoma in the temporal part of visual field of both eyes. Its size was about 2 degrees. What is the change of visual field?



1. Binasal hemianopsia.



2. Bitemporal hemianopsia.



3. Amaurosis.



4. Blind spot.



5. Yellow spot.

6. The patient has bilateral atrophy of the optic nerve. He can see by his right eye the optotypes at 2 m distant from chart, by his left eye - 1 m. What visual acuity does the patient have?

1. Vis OD = 0,02 and Vis OS = 0,01.

2. Vis OD = 0, 4 and Vis OS = 0, 2.

3. Vis OD = 0,04 and Vis OS = 0, 2.

4. Vis OD = 0, 4 and Vis OS = 0,02.

5. Vis OD = 0,04 and Vis OS = 0,02.

7. The patient was examined by ophthalmologist. It was established the paracentral absolut negative scotoma in the temporal part of visual field of both eyes. Its size was about 2 degrees. What is the change of visual field?



1. Binasal hemianopsia.



2. Bitemporal hemianopsia.



3. Amaurosis.



4. Blind spot.



5. Yellow spot.

8. The patient has bilateral atrophy of the optic nerve.. He can’t see any objects, but he can see and feel light. How can we examine the visual field in this patient?



1. Control methd.



2. Perimetry with object.



3. Perimetry with torch or candel.



4. Examination of visual field is impossible. 

9. The patient has bilateral atrophy of the optic nerve. He can see by his right eye the optotypes at 4 m distant from chart, by his left eye - 2 m. What visual acuity does the patient have?

1. Vis OD = 0,02 and Vis OS = 0,01.

2. Vis OD = 0, 8 and Vis OS = 0, 4.

3. Vis OD = 0,08 and Vis OS = 0, 04.

4. Vis OD = 0, 08 and Vis OS = 0,02.

5. Vis OD = 0,04 and Vis OS = 0,02.
10. The patient was examined by ophthalmologist. It was established the paracentral absolut negative scotoma in the temporal part of visual field of both eyes. Its size was about 2 degrees. What is the change of visual field?



1. Binasal hemianopsia.



2. Bitemporal hemianopsia.



3. Amaurosis.



4. Blind spot.



5. Yellow spot.
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